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Identifying signs; is it Torah or Rabbinic = — 33397 I RN9INT 1911299

OVERVIEW
The Xni states that *wX 27 was unsure regarding the rule that we return a lost
object based on 7°11°0; whether that is a 770 law or a rabbinic law.
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If we assume that 71277 1°12°0, this that we return a lost object n''/m» that is only

with witnesses, who testify that this object belongs to this claimant -
- PO PINAY XIIPN DINOYND NPT XY 1929

However, it is the 3239 who made an enactment by a found object to return it
even with 191239, although there are no o7v.

nooIN asks:
= 19909 2N 19290 12 WY 9299 (x5 97 xeoun 8a2) ININD N 7992 1957 NN 99NN ON)

And if you will say; and this which the 7w» taught in nIxvx» %X P95, that an

object which has a y%°9, one is obligated to announce it -
— 13297 17298 IY 1IN 191 11290 12 PRYH

But if it has no 3249, it belongs to the finder, even 333972; the question is -
- 21195 ) AT Y A AMNN 97 OY1Y N2> N 19999 )oY NI NNId

Why can the finder keep it; let him announce it, and the owner will bring

witnesses, for n''1 what difference is there whether or not it has 70, for -
= N2 10 N2 OTY NN’ 73 7Y *¥aT 1’2

Since 0" we require 237¥ to return it, he will find witnesses where there is no 120,
Just as he will find witnesses when there is a 72°0?!

N1B0IN answers:
- Ypy myrava DY1YN 859591 1130 315 HYT Y Y

" moon is clarifying; how can there be a question whether 32°0 is n'"an or 112772, since the 770 requires us to return
a lost object (see footnote # 2). Seemingly the (only) way to return is through 11°0.

% The 77N writes (in 3-X,25 [x¥xn] 2°727) that one is required to return a lost object (even if he does not know who the
owner is). MooN explains that if we maintain 71277 7°12°0, the only way we can return it n"7n, is if the person who
lost it, brings witnesses that it belongs to him (otherwise a 710 is insufficient n"7n, since 1°11°0 is only valid 112772).

? The 77N requires us to return a lost object. We are maintaining 13217 1"12°0, therefore we return it only if the owner
brings 07 (the 1°12°0 are irrelevant). How can then the 7127 rule that if the 7iX°% has no 1°11°0 the finder may keep it;
why is he not obligated to wait until the owner brings witnesses. It is seemingly just as easy (or difficult) to find 2>7¥
that it belong to the owner, whether the object has a 12°0 or not. The 71710 never said to return an object which has a
1°0; merely that one is obligated to return any object as long as there are witnesses who testify that it belongs to the
owner. See ‘Thinking it over’ # 2.
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And one can say that through the y2%0, the 297 recognize’ that it belongs to the
owner by 1°» nwsaw —

mooIn offers an additional answer:
- 791 49 1250 12 WAV 937 1IN 1591V ¥ BN ‘DIINIY 11250 1 YT T
And furthermore through the 329, people ask around if there is someone who

recognizes that object which has this particular 3720 -
$UNNNY INYOY TN P19 PN 11250 12 PRYI AR D1y NS 9 21> Yy
So that through mentioning the 1°0, witnesses will be found, however when it

does not have a 20, he does not know how to ask, so he gives up hope, and
therefore the finder may keep it.

SUMMARY
The 7Y remember better when there is a 12°0 and people ask around more if there
is a 71°0, otherwise the owner is WX»nn1 from finding 2°7Y.

THINKING IT OVER
1. If we maintain 13277 1I2°0, will a pram 12°0 be sufficient N'"77n to return an
A7aR?’

2. Why cannot Mmoo ask the same question even if we maintain Xn*7IR7 1°12°0; we
should have to announce every item even if it does not have a j1°0, because
perhaps he will find 07y to identify it as his?®

* 1y nyeav refers to a type of recognition that cannot be defined verbally by offering a description, rather it is a
familiarity with the item; i.e. the way one recognizes his (black) hat among many hats.

> It seems (from this answer) that the 2>7v must testify that they recognize that this item belongs to the owner.
However they cannot say that the owner had an item with this 1°0, so therefore it must belong to him (even though
they do not actually recognize it as being his); for in this case, n"mn it will not be returned since 71277 712°0. The
1a°0 will (seemingly) jog the memory of the o7y and will cause them to remember that it was his item. However
when there is no 12°0 it will be very difficult for the 0>7v to be able to identify it, therefore (as nwOIN shortly
concludes) the owner will be wX>nn, for he realizes he will never be able to find proper 0>7v.

® This plural term may refer to both the finder and the loser (owner).

7 See X"wn.

$ See mwn noma.
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